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Ql Answer M
. .5n
1a 1+|\/§_2[5+|7J_2e 21=2e 2 ;72'=4e © . 05
1 ZI
1b | |==2; arg(—j = —~[2n] 0.5
z z
OM=|z|=2; OM'=|z|=4 ; MM’'=[z'~2]=2/3 s0 OM'* =OM? + MM"?
1c 1
OR: z' = (1+iv3)2i =-2+/3 + 2i
M and M’ have the same ordinate and M belongs to y-axis so OMM’ is right at M.
2 i 0.5
Al a+i®=2v2e 4 ; (1+) =242 :
Exponential form:
i* i 3 i(£+3lj (lslj
z':(1+i\/§X1+i)3 =2e 3(\/§e 4} =4J2e\% 4 —42e 12
2b ) 0.5
Algebraic form:
z':(1+i\/§)(1+i)2 (1+i):(1+iJ§)(2i—2):2(—1—\/§)+2(1—\/§)i
Comparing the exponential and the algebraic forms of z":
2¢ | 442 cos(lf—z”j ~2(-1-43), 1
13 —(\/2+/6)
hence cos = 2




Qll Answer M
2 1 2
Ala K)=—== ; L)=— 0.5
p(K) 53 p(L) 3
1 2
Alb | p(ENK) =p(K)x p(E/K) = 1 X G X3C4 = 1 0.5
3 C; 5
o(E L) =p(L)xp(E/L) = 2x 2XCe _ 4 '
3 C 15
Alc
1 4 7
E)=p(EnK)+p(ENL)==+—=—.
p(E) =p(ENK)+p( )51515
1
A2 p(K/E):M:izg 05
pE) 7 7
15
The number of possible cases is C3 =10
p(X=4)=p(0,1,4 or 0,2,4 or 1,2, 4):3.
B 10 1.5
X=X 2 4 5
| 1 3 6
P 10 10 10
Qlll Answer M
1a 2-0-2=0 and 1+0-1=0. 05
1b (d): x =m+1; y=2m; z = 5m+1 05
92 (D): x=2t+1 ; y=—t;z=1 05
2b ATI%(Zt,—t,O); AE = x/5t2 =45, hence t = +1. 0.5
Fort=1, E(3,-1,1).
33 0+2-2=0; 4-2-2=0 then B and C belong to P. 05
= i d .
AB(-1,-2,-1); BC(2,4,t); AB.BC=0 so t=-10
Area of ABC = \/Ex— 120 =65
3b 2 1.5

area(ABC)xEA _ 6/5x+/5
3

Volume of EABC = :10u3.

OR
Calculate the mixed product




Qlv Answer M
Al |f(X)=0forx=« f(x) >0 forx> « f(x) <0for x< « 0.5
2
LetU=x;V' =e™™ thenU' =1;V =—e* Ixe'xdx =[ -xe*-e* ]z =-3e%+1
0
A2 , , 15
Area = I Adx+ j xe*dx = [4x]§+[-xe'x-e'X ]zz (-3e?+9) u?
0 0
X _ X _ _ _ _
lim g(x) = lim X 3‘i XZ1 o lim 4xe* =0.and lim g(x) = lim !
Bl X—>—00 X—>—00 e X—>—00 X—>—00 X——0 @ 1
g(-2.5)=5.27.
limg(x)=lim (4x -3 — xe*—-e)=+o0 limxe™=0
B2 | lim(g(X)—(4x-3))=lim—(x+1)e™* =lim(-xe™*-e™)=0 1
then the straight line with equation y = 4x - 3 is an asymptote of (G).
g(x) - (4x-3) = - (x+1) ¥
(G) intersects (D) at x = -1 thus A(-1;-7)
B3 | lfx<-1, - (x+1)e* >0, then (G) is above (D) 1
If x >-1, - (x+1) e <0, then (G) is below (D)
Bda | g'(X)= 4- ™ +(x+1)e™ = 4+xe™ = f(x) 0.5
X -0 -1.2 + ©
g'(x) - 0 +
B4b g(x) + oo + o 1
-7.1
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